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. ROFERZBRORNEZE>THILTL,

(1) x2-9x+20=0
~(=9) £ V(=9)2 — 4 x (+1) X (+20)

) x2+x-30=0
“(+1) £V (+1)% — 4 x (+1) X (=30)

LE'%E'
SHe
(3) x2-x-42=0

“(=1) £ V(=1)% — 4 X (+1) X (-42)

2X(+1) 2 X (+1) 2X(+1)
9+V1 9+1 ~1+V121  -1+11 1+V169 1+13
2 2 2 2 2 2
(4) x2-28 =0 (5) x2-81 =0 6) x2-63 =0
~(0) £V (0)2 - 4 x (+1) x (-28) ~(0) = V(0)2 -4 X (+1) X (-81) ~(0) = V(0)2 -4 X (+1) X (=63)
2% (+1) 2 X (+1) 2
V112 +V42x7 =47 +1/324 V187 418 V252 V6 x7  +6\/7
2 2 2 2 2 2 2 2 2
(1) x=4,x=5 2) x=-6,x=5 B3) x=-6x=7
@) x= +2V7 5) x=+9 6) x = +3V7

2. ROFBEANEZHRORARNZFE>THREILT

1) x2+x-8=0 2)x2-3x-8 =0 3) ¥2—6x-12 = 0
D EVED2—4x (FD) X (=8)  —(=3) £V(=3)2 =4 x (+1) X (~8) ~(=6) £ V(=6)2 4 x (+1) X (=12)
2% (+1) 2 X (+1) 2 X (+1)
~1+4/33 3+ V41 6+V84 6+22x21
2 2 - 2

(4) x2-2x-4=0

(5) x2-8x-3=0

2
B 612\/5
2

6) x2-5x+2=0

—(=2) £ V(=2)2 — 4 x (+1) X (-4) ~(-8) =V (=8)2 — 4 x (+1) X (=3) ~(=5) £ V(=5)2 — 4 x (+1) X (+2)
2% (+1) 2 X (+1) 2% (+1)
21\/%_21\/22x5 81\/7_6_81\/22><19 51\/1_7
2 2 2 2 2
2+2V/5 8+ 219
2 2
(1)x=_1i\/§ (2)x:3i\/H @) x=3+V21
2 2
4) x=1+5 (5) x =4+1/19 6 r= V17




